Kungalvs BK

Handicap 2019-05-09 SCRATCH

Partavling, 5 bord, 10 par. Antal brickor: 24. Medel: 96.0.

Plac  Par Poang % Namn MID Klubb
1 6 110.0 57.29  Pal Rangaard - Michael Koch 29842 27453  Kungalvs BK
2 2 105.0 54.69  Bengt Larsson - Eric Skoog 3819 59083  Kungalvs BK
3 9 96.0 50.00 Cecilia Persson - Fredrik Ludl 36239 28425 Kungéalvs BK
4 1 95.0 49.48  UIf Zimmergren - Bertil Nilsson 5608 5021 Kungélvs BK
4 5 95.0 49.48  Sture Svengard - Christer Kristensson 61168 42115 Kungélvs BK
6 10 93.0 48.44  Ake Lindh - Gun Rudstrém 23826 80889  Kungélvs BK - Saters BK
6 3 93.0 48.44  Sven Sultan - Margareta Sultan 40167 27678 Kungalvs BK
8 4 92.0 47.92  Kjell Karlsson - Gundel Koch 88504 41700 Kungélvs BK
9 7 91.0 47.40  Alve Kilborn - Jérgen Norup 5015 41546  Kungélvs BK
10 8 90.0 46.88  Hans Henriksson - Ronny Nilsson 81754 81198 Kungalvs BK
1 1075 2 #1053 3 «D3
Nord v EKn1032 Ost vKD8 Syd v EKKn8763
Ingen + D87 NS + K3 ov +52
#Kn10 #E8765 #DKn
4 DKn832 4K64 4976 4 DKn82 4 Kn974 & K652
v 96 v D85 v 1052 v 764 v2 v9
¢ 64 4932 ¢ EDKn4 ¢ 107652 ¢ EKn1063 ¢ K984
#ED98 #K532 #DKn9 &2 #972 #K1086
«E9 « EK4 «E108
vK74 v EKn93 vD1054
¢ EKKn105 +98 +D7
&764 #K1043 #E543
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
10 5 4v N= 3 420 80 00| 2 4 3NS+2 49 660 80 00| 2 4 4v N+1 ¢+ 4 450 7.0 1.0
9 1 3vN+1 oK 170 6.0 20 3 6 3NS+1 *Q 630 6.0 20| 7 8 4y N+1 a2 450 7.0 1.0
3 6 3vyN= 3 140 40 40| 7 8 3NN= *7 600 20 60 9 1 4vN= v9 420 3.0 50
2 4 3¢ S= 4Q 110 20 60 9 1 3NN= a2 600 20 60(10 5 4vy N= +4 420 3.0 50
7 8 34V-1 LN 50 00 80|10 5 3NS= *4 600 20 60 3 6 6vS-2 v2 -100 0.0 8.0
4 & K7 5 497653 6 « Kn108
Vast vE762 Nord vDKn Ost v EKn84
Alla ¢ EK943 NS ¢ Kn762 ov ¢ Kn7
£K6 &Kn7 #Kn932
4 E1032 4 DKn986 «D2 « EK104 « ED642 4 K53
v8543  vKD9 v7543 vE82 v6 v K973
¢7 +D + D9 + EK8 ¢ E94 ¢+ D62
&#DKn52 #8743 296532 &#E84 D654  &#K107
454 4 Kn8 497
vKnl0 v K1096 vD1052
¢ Kn108652 ¢ 10543 ¢ K10853
&E109 &#KD10 &E8
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
3 5 5¢S= *2 600 70 10 9 2 3NO-1 v6 50 80 00|10 6 3a4V= 4] -140 8.0 0.0
10 6 5¢ N= +Q 600 70 10 3 5 2NO= v6 -120 6.0 20| 3 5 34 V+1 3 -170 6.0 2.0
4 7 4¢ N+1 LYe) 150 20 60 4 7 2NO+1 v6 -150 4.0 40| 9 2 2NO+2 +5 -180 4.0 4.0
8 1 4¢ N+1 +Q 150 20 60 8 1 3NO= v6 400 1.0 70| 8 1 3a4V+2 2 -200 2.0 6.0
9 2 4¢ N+1 4Q 150 20 6.0[10 6 3NV= a7 -400 1.0 70| 4 7 44 V= *2 -620 0.0 8.0
7 « DKn93 8 « D98 9  Kn109864
Syd v 65 Vast v D93 Nord vK1093
Alla + E10753 Ingen 492 ov +E4
& KKn #D7654 &5
41042 4 E6 & EK72 #1053 4 EK732 &D
v KKn9 vED7432 v K6 v Kn8752 vEKNn82 v74
¢ Kn2 + K86 + DKn108 ¢ 754 ¢72 + DKn1085
#D10983 #65 #832 #Knl0 #109 #EKKN72
4 K875 « Kn64 45
v 108 vE104 v D65
¢+ D94 ¢ EK63 + K963
#E742 &EK9 #D8643
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 2 4v0-1 45 100 8.0 00|10 7 INS+3 vK 180 80 00| 5 8 4v V-4 ¢ A 400 8.0 0.0
4 6 3vO= 2 -140 3.0 50| 5 8 2NS+1 +8 150 6.0 20 1 2 3NV-3 4] 300 6.0 2.0
5 8 2v0+1 *4 -140 3.0 50| 1 2 24 N+2 *4 130 3.0 50| 4 6 3NV-2 a] 200 40 4.0
9 3 3v0= 45 -140 3.0 50| 9 3 3#N+1 aT 130 30 50| 9 3 2NO-1 5 100 10 7.0
10 7 2v0O+1 v8 -140 3.0 50| 4 6 2v0-1 *A 50 00 80|10 7 5¢0-1 45 100 1.0 7.0
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10 « E87 11 « KD9 12 « D43
Ost v 853 Syd vKn1093 Vast v 1076
Alla ¢+ E9 Ingen + Kn8 NS +5
#Kn8763 & EKKn5 #KDKn832
« KDKn95 32 4108654 & EKn3 4652 & KKn9
vE102 v KD964 vKD852 vE64 v4 v KD953
¢ 84 +D76 ¢+E + K1052 + EKDKN94 ¢ 8762
K42 #E105 *84 +D62 #765 &E
» 1064 a72 « E1087
vKn7 v7 v EKn82
¢ KKn10532 ¢ D97643 ¢ 103
D9 #10973 #1094
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 1 4v0-1 vJ] 100 80 00| 9 4 4aV- *A 50 80 00| 6 1 3NV-2 *K 100 8.0 0.0
2 3 3v0+1 *Q -170 6.0 20| 2 3 34#N-1 2 50 6.0 20| 2 3 3¢ V+1 *K -130 6.0 2.0
5 7 4v 0= +3 -620 2.0 6.0|10 8 3NN-3 v4 -150 4.0 40| 5 7 3v0O= a7 -140 4.0 4.0
9 4 4v 0= +J 620 2.0 60| 6 1 44 V= *A -420 2.0 6.0|10 8 3NO= *4 -400 2.0 6.0
10 8 4v0O= *T -620 2.0 60| 5 7 44DV= *A 590 0.0 80| 9 4 3¢DV+1 &K -570 0.0 8.0
13 #9876 14 K102 15 « KDKn97
Nord v D974 Ost v 9863 Syd v 752
Alla ¢ Kn964 Ingen +D3 NS + 862
*7 +D984 74
» EKn & K43 « D97 » Kn86 543 4 E6
v Kn6 v EK832 vKn542 vK107 v 103 v D986
+ E852 + K3 ¢ EK106 ¢ 52 ¢+ KDKn3 ¢ E74
#108432 #ED6 #103 #EK652 #Kn1053 #EK92
« D1052 #« E543 #1082
v 105 vED v EKKn4
¢+ D107 ¢ Kn9874 ¢ 1095
#KKn95 &Kn7 £D86
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
1 10 3NO-1 »5 100 80 00| 6 8 INN= *2 90 80 00| 9 5 3v0O-1 a2 50 8.0 0.0
9 5 2NO+1 a2 -150 6.0 20| 9 5 240-1 vA 50 6.0 20 6 8 INO+2 vA -150 6.0 2.0
3 4 4v 0= *7 -620 3.0 50| 1 10 2¢ S-1 &T 50 20 60 3 4 INO+3 va -180 3.0 5.0
6 8 4v 0= vT 620 3.0 50| 3 4 2¢S-1 &T 50 20 60| 7 2 INOH+3 v4 -180 3.0 5.0
7 2 3NO+1 a2 -630 0.0 80| 7 2 24S-1 *A 50 20 6.0| 1 10 3NO= *T -400 0.0 8.0
16 « EKKn3 17 « D632 18 « D109
Vast v DKn83 Nord v 105 Ost vD8
ov ¢2 Ingen ¢+ Kn43 NS + K10
#KD106 »EK74 #KD10872
@- » 10865 4K94  4Kn85 4 EKKn54 4873
v 7652 v 109 vKD94 vE7 v2 v EKKn9763
¢ DKn10 ¢ EK8654 +1076 ¢ K852 + D632 +85
#E87542 #3 #653  #Knl1082 #Kn54 *3
« D9742 « E107 462
v EK4 v Kn8632 v 1054
4973 ¢ ED9 ¢ EKn974
#Kn9 D9 #E96
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
2 10 44 S= +Q 420 50 30| 2 10 14 S+2 vA 140 6.0 20 4 5 4eV-2 *K 100 8.0 0.0
7 1 44 S= *A 420 50 3.0 8 3 14 N+2 vA 140 6.0 20 2 10 4v O-1 ¢ A 50 5.0 3.0
8 3 44 S-= +Q 420 50 3.0 9 6 14 N+2 *] 140 6.0 20( 7 1 4v0-1 *A 50 5.0 3.0
9 6 44 S= +Q 420 50 30| 7 1 2NS= *7 120 20 60 8 3 3vO+1 46 -170 2.0 6.0
4 5 44 S-1 +Q -50 0.0 80| 4 5 3NN-1 8 50 0.0 80| 9 6 3vO+2 46 -200 0.0 8.0
19 410752 20 «D8 21 a2
Syd v EK106 Vast v K53 Nord v KKn54
oV ¢ Kn9 Alla + EK9853 NS ¢ EKn63
#1083 294 #EKD9
D84 ~E6 4K106 &E7 2 Kn8743 4K6
vKn543 v987 vE1084 D72 v 109 v32
4752 + K1043 +DKn2 10764 ¢98754 +KD10
&D72 #EKKnN9 #1082 #KDKn6 »2 #Kn106543
« KKn93  Kn95432 « ED1095
vD2 v Kn96 v ED876
+ ED86 *- 2
#654 #E753 £87
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
5 6 24 N= *A 110 6.0 20 5 6 4v V-2 ¢A 200 8.0 00| 3 10 6v S+1 *2 1460 8.0 0.0
8 2 14 S+l *2 110 6.0 20 8 2 24S= »8 110 6.0 20 9 7 4v S+3 *2 710 6.0 2.0
9 7 24 S= v2 110 6.0 20( 1 4 24S-1 *8 -100 4.0 40| 5 6 3NN+3 *3 690 40 4.0
1 4 INO-1 vQ 100 20 60 9 7 3¢ N-2 *K 200 2.0 60| 1 4 3NN+2 + K 660 2.0 6.0
3 10 14 S= *2 80 00 80| 3 10 3¢ N-3 *K -300 0.0 80| 8 2 6NN-1 LN -100 0.0 8.0
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« Kn753 « E1084 « E1086
vKn10876 v6 v 65
¢- + KKn62 + DKn954
#E842 #ED108 *87
« ED2 & K864 495 &« KD2 & Kn4 & K753
vKD952 vE v EKD109873 ¥ Kn542 v EK1083 v DKn97
4643 + D10875 43 +9 + E863 + K
#KKn #1076 &6 #97543 #95 #D1032
109 4 Kn763 « D92
v43 v- v42
¢ EKKn92 + ED10875 ¢ 1072
D953 &KKn2 #EKKn64
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poan
2 5 240-1 ¢ A 100 6.0 20| 4 10 44 N+1 +9 650 70 10| 6 7 4v V-1 »8 50 8.0
4 10 24 O-1 ¢A 100 6.0 20 9 8 44 S+l vA 650 70 10 1 3 3vV= 8 -140 5.0
6 7 2NV-1 *4 100 6.0 20| 1 3 5¢ S+1 vA 620 30 50| 4 10 3vO= +Q -140 5.0
1 3 INV= *2 90 20 6.0| 6 7 5¢ S+1 vA 620 30 50| 9 8 3vVv+l +Q -170 2.0
9 8 1lvV+l *A -110 0.0 80| 2 5 5¢ S= *6 600 00 80| 2 5 4v V= ¢+ Q -420 0.0
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